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3. sin30°cos30° - cos60°sin60° & Ff= -5l
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5. T IH2 W25 Zol7t 190 AR flofl A442teg-E& 19
ZAo]t}. sin 50°, cos 50°, tan 50° = AE 0 2 Lpelofg},

a & sinh0° =
a &l cos50° =
L g tan50° =



@ sin32°=0.52
O cos34°=0.83
© tan36°=0.73
® 2sin42°=1.34

@ 3cos44°=2.1

2t | Abel(sin) | ZAFQ(cos)| EFHIE (tan)
31° 0.51 0.86 0.60
32° 0.52 0.85 0,62
33° 0.54 0.84 0.65
34° 0.56 0.83 0.67
35° 0.57 0.82 0.70
36° 0.59 0.81 0.73
37° 0.60 0.80 0.75
38° 0.62 0.79 0.78
39° 0.63 0.78 0.81
40° 0.64 0,77 0.84
41° 0.66 0.75 0.87
42° 0.67 0.74 0.90
43° 0.68 0.73 0.93
44° 0.69 0.72 0.97
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2t | sin ‘ cos ’ tan

25° 10,42 0,90/ 0,46
50° 10,76 0,63 1,19
70° 10.930.34 2,74

cos 50° + cos 25° x sin 50° — tan 25°
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A7t o] 2 A oA Blde] W= 4
o] 9H-& H 2 511, AB = V5em,
AC=2cm, /BAH=x, /CAH=1y
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sin A = 5 Q1 21724 ABC ©of| 4] cos A B

, tan A O] k& Z42F oY (B 0°< A <

90° )

@ COSAZ?, tanA =1 @ cosA = g, tan A = 2

® cosA =243, tanA =1 @ cosA =33, tanA:%
2

® cosA = 7\/_, tanA =1



oS 2 d Zol B = 90° ¢ 2747}
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17. b= H7]9A &2 A& BF &5 171

@ sin%30° + cos?60° =1
© sin30° = cos30° X tan30°
© sin30° +sin60° = sin90°
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18. tan60° x sin 30° — cos 30° X tan 45° 2] ZH-&?
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19. o3 29 gr2?
sin 60 ° x sin® 30 ° + cos 30 ° x sin? 60 °
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2 c0s 30° X tan 45° X cos 60° + 1 2] Zr2?
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23. o2 I-I O] 3x—2y+12 =09 I
oF x %9 Fo] ko] o]F =74 A7 Ea
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24. sin90°+cos0° —tan0° = A , sin 0° + tan 0° + cos 90° = B 2+ & uj,
AB 9] 3127
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25. The 7o) gt F Aha Ahe ghe?

@ sin25° @ cos0° @ cos10°

@ tandb° ® tan60°



26. =T AAHY gl da B 2 A 12W?

@ sin20° > sin49° @ sin31° > cos31°
@ sin20° =cos30° @ sin45° > cos45°

® sin23° < cos23°



27. /(sinx+1)2+ /(sinx—1)2 9] Ff2? (&, 0°<x<90°)
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29. A+B=90° (2, A>0°B>0°% o, ot

@ sin(90°—A) = cosA
@ sinAxcosB=1

31 A
® tanA = o
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@ sin?A=1-cos?A

@ tanAxtanB=1



30. oS 72 o] AABC o A 412

O 6.82

(afzidlel #)
T sin @ cos T tan =
43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
@ 6947 © 7071 @ 7.193

® 7.314



31. B=90°¢< 77 ABC oA sinA = % A off, tan(90° - A)
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32. sin(2x-10°) = A, x O] 27 (H, 0° <x<45%)
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33. AABC oA A7 oY o), 2cos? A—5cosA+2 =02 =S of,
A O] 74 75, 4tan® A — V3tan A 4 8 9] 2 Z+7 5ozt
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